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Read the passage very carefully and answer the questions.
Good Med Abroad Is Good Med fir Home

The directorate General of Foreign Trade (DGFT) has made it mandatory for all cough syrup exporters to have
their product tested and certified for quality at specified government laboratories betore shipping out export
orders. This 1s welcome. It will begin to repair the reputational damage over alleged Indian cough syrup-
related deaths m some countries last year. Safeguarding quality cannot be limited to some products or to
exports.

Ensuring quality is the Central Drugs Standard Control Organization's (CDSCO) responsibility. not DGFT's
Setting norms for exports 1s like applying a band-aid to a wound that requires stitches. CDSCO needs an
overhaul. In the current fragmented system. quality and standardization are casualties. A modern, Independent,
statutory regulatory system that has the capacity to provide oversight to an inereasingly complex
pharmaceutical industry while protecting public health and patient rights 13 required. CDSCO is the non-
statutory regulator under the health ministry. It has no jurisdiction over State Drug Regulatory Authorities
(SDRAS) that are part of state health departments. Each regulatory body acts independent of the other. This
must change. The regulatory approach. too. needs to change. Shifting from an overwhelming focus on
manufacturing to public health requires putting a doctor in charge, and shifting the regulator with
multidiseiplinary teams.

India 1s the third-largest pharma manufacturer, meeting 20% of global generic demand. The $41 billion
industry 1s estimated to grow further -$50-65 billion by 2025, and $120-130 billion by 2030. Ensuring all
Indian pharma products meets quality standards will help with public health both at home and abroad. while
growing India's pharma footprint.

Sub questions

Question Number : 1 Question Id : 68634022070 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CDSCO stands for :

1. Center for Drugs Taste Control Organisation

[

. Center for Druun Taste Control Organisation
3. Center for Drugs Taste Connection Organisation

4, Central Drugs Standard Control Organisation

Options :

68634087201. 1
68634087202. 2
68634087203. 3
68634087204. 4

Question Number : 2 Question Id : 68634022071 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Synonym or the term 'Overhaunl'

1. Overhear

[ ]

. Examine
3. Excessive growth
4. Overexpose

Options :

68634087205. 1
68634087206. 2
68634087207. 3
68634087208. 4

Question Number : 3 Question Id : 68634022072 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to this paragraph whose duty 1s to ensure quality of the drugs mn India ?
1. CDSCO
2. DGFT
3. CDMO
4, CDVO

Options :

68634087209. 1
68634087210. 2
68634087211. 3
68634087212. 4

Question Number : 4 Question Id : 68634022073 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Generic medicines are :
1. Medicines used by high class people.
2. Medicines having old brand name.
3. Medicines having no brand name.

4. Medicines meant for plants and animals only.

Options :

68634087213. 1
68634087214. 2
68634087215. 3
68634087216. 4



Question Number : 5 Question Id : 68634022074 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Billion means :

1. 10 Crore

[

. 10 Million
3. 100 Mallion

4, 1000 Million

Options :

68634087217. 1
68634087218. 2
68634087219. 3
68634087220. 4

Question Id : 68634022069 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the passage very carefully and answer the questions.
Good Med Abroad Is Good Med fir Home

The directorate General of Foreign Trade (DGFT) has made it mandatory for all cough syrup exporters to have
their product tested and certified for quality at specified government laboratories betore shipping out export
orders. This 1s welcome. It will begin to repair the reputational damage over alleged Indian cough syrup-
related deaths m some countries last year. Safeguarding quality cannot be limited to some products or to
exports.

Ensuring quality is the Central Drugs Standard Control Organization's (CDSCO) responsibility. not DGFT's
Setting norms for exports 1s like applying a band-aid to a wound that requires stitches. CDSCO needs an
overhaul. In the current fragmented system. quality and standardization are casualties. A modern, Independent,
statutory regulatory system that has the capacity to provide oversight to an inereasingly complex
pharmaceutical industry while protecting public health and patient rights 13 required. CDSCO is the non-
statutory regulator under the health ministry. It has no jurisdiction over State Drug Regulatory Authorities
(SDRAS) that are part of state health departments. Each regulatory body acts independent of the other. This
must change. The regulatory approach. too. needs to change. Shifting from an overwhelming focus on
manufacturing to public health requires putting a doctor in charge, and shifting the regulator with
multidiseiplinary teams.

India 1s the third-largest pharma manufacturer, meeting 20% of global generic demand. The $41 billion
industry 1s estimated to grow further -$50-65 billion by 2025, and $120-130 billion by 2030. Ensuring all
Indian pharma products meets quality standards will help with public health both at home and abroad. while
growing India's pharma footprint.

Sub questions



Question Number : 1 Question Id : 68634022070 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CDSCO stands for :

1. Center for Drugs Taste Control Organisation

[

. Center for Drum Taste Control Organisation
3. Center for Drugs Taste Connection Organisation

4. Central Drugs Standard Control Orgamsation

Options :

68634087201. 1
68634087202. 2
68634087203. 3
68634087204. 4

Question Number : 2 Question Id : 68634022071 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym or the term 'Overhaunl'
1. Overhear
2. Examine
3. Excessive growth
4. Overexpose

Options :

68634087205. 1
68634087206. 2
68634087207. 3
68634087208. 4

Question Number : 3 Question Id : 68634022072 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
According to this paragraph whose duty is to ensure quality of the drugs in India ?
1. CDSCO
2. DGFT
3. CDMO
4. CDVO

Options :
68634087209. 1



68634087210. 2
68634087211. 3
68634087212. 4

Question Number : 4 Question Id : 68634022073 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Generic medicines are ;

1. Medicines used by high class people.

()

. Medicines having old brand name.

. Medicines having no brand name.

[F%]

4. Medicines meant for plants and animals only.

Options :

68634087213. 1
68634087214. 2
68634087215. 3
68634087216. 4

Question Number : 5 Question Id : 68634022074 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Billion means :

1. 10 Crore

()

. 10 Mullion

. 100 Mallion

[F%]

4, 1000 Million

Options :

68634087217. 1
68634087218. 2
68634087219. 3
68634087220. 4

Sub-Section Number : 2
Sub-Section Id : 686340720
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634022075 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pick out the meaning of the underlined word in the following sentence:

He 15 done for.

1. revived

| )

. muned
3. glorified

4. encouraged

Options :

68634087221. 1
68634087222. 2
68634087223. 3
68634087224. 4

Question Number : 6 Question Id : 68634022075 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the meaning of the underlined word m the following sentence:
He 1s done for.

1. revived

| )

. muned
3. glorified

4. encouraged

Options :

68634087221. 1
68634087222. 2
68634087223. 3
68634087224. 4

Question Number : 7 Question Id : 68634022076 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Rearrange the following parts of a sentence to make a meaningful sentence.
P. much as a common

Q. love. friendship and respect

R. do not unite people as

S. hatred for something

Choose the correct answer from the options given below:

1.S.PR.Q

[ ]

Q.S.R.P
3P Q.S.R

4.Q.R.P.S

Options :

68634087225. 1
68634087226. 2
68634087227. 3
68634087228. 4

Question Number : 7 Question Id : 68634022076 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Rearrange the following parts of a sentence to make a meaningful sentence.
P. much as a common
Q. love. friendship and respect
R. do not unite people as
S. hatred for something
Choose the correct answer from the options given below:
1.S.PR.Q
2.Q.S.R.P
3.P.Q.S. R
4 QR.PS
Options :
68634087225. 1
68634087226. 2

68634087227. 3
68634087228. 4



Question Number : 8 Question Id : 68634022077 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Identify the part of speech of the underlined word m the following sentence.
You are paying less attention to your studies than you used to do.

1. Noun

| )

. Pronoun
3. Verb
4, Adjective

Options :

68634087229. 1
68634087230. 2
68634087231. 3
68634087232. 4

Question Number : 8 Question Id : 68634022077 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the part of speech of the underlined word m the following sentence.
You are paying less attention to your studies than you used to do.

1. Noun

2. Pronoun

3. Verb

4, Adjective

Options :

68634087229. 1
68634087230. 2
68634087231. 3
68634087232. 4

Question Number : 9 Question Id : 68634022078 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the passive voice of the following sentence.

She looks after the cluld.

1. The child are looked after by her.

[

. The child were looked after by her.
3. The child is looked after by her.

4, The child looks after her.

Options :

68634087233. 1
68634087234. 2
68634087235. 3
68634087236. 4

Question Number : 9 Question Id : 68634022078 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the passive voice of the following sentence.

She looks after the cluld.

1. The child are looked after by her.

2

. The child were looked after by her.
3. The child is looked after by her.

4. The child looks after her.

Options :

68634087233. 1
68634087234. 2
68634087235. 3
68634087236. 4

Question Number : 10 Question Id : 68634022079 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the one word for the following:
"Possessing unlimited powers.”

1. Omniscient

| )

. Omnipotent
3. Omnipresent

4. Omnicompetent

Options :

68634087237. 1
68634087238. 2
68634087239. 3
68634087240. 4

Question Number : 10 Question Id : 68634022079 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the one word for the following:
"Possessing unlimited powers."

1. Omuniscient

| )

. Omnipotent

5]

. Omnipresent

4. Omnicompetent

Options :

68634087237. 1
68634087238. 2
68634087239. 3
68634087240. 4

Question Number : 11 Question Id : 68634022080 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who among the following was an Indian astronomer, mathematician and astrologer who lived in Ujjain in the

6 century AD and was one of the nine jewels (Navratnas) of the court of legendary ruler Yashodharman

vikramaditya of Malwa?

1. Bhaskaracharya

[

. Gotam Muni

. Ishwaralaishna

Lad

4. Varahamihira

Options :

68634087241. 1
68634087242. 2
68634087243. 3
68634087244. 4

Question Number : 11 Question Id : 68634022080 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following was an Indian astronomer. mathematician and astrologer who lived m Ujjain in the

6t century AD and was one of the nine jewels (Navratnas) of the court of legendary ruler Yashodharman

vikramaditya of Malwa?

1. Bhaskaracharya

[

. Gotam Muni

. Ishwaralaishna

Lad

4. Varahamihira

Options :

68634087241. 1
68634087242. 2
68634087243. 3
68634087244. 4

Question Number : 12 Question Id : 68634022081 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The first Indian Athlete to win Olympic Gold Medal for India 1s :
1. P.T. Usha
2. Vijendra Singh
3. Neeraj Chopra

4 PV Smdhu

Options :



68634087245. 1
68634087246. 2
68634087247. 3
68634087248. 4

Question Number : 12 Question Id : 68634022081 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first Indian Athlete to win Olympic Gold Medal for India 1s :

1.P.T. Usha

[

. Vijendra Singh

Laa

. Neeraj Chopra

4 PV Smdhu

Options :

68634087245. 1
68634087246. 2
68634087247. 3
68634087248. 4

Question Number : 13 Question Id : 68634022082 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Milk produced during the initial few days of 'lactation’ 1s called :

1. Antrum

()

. Colostrum

. Fulerum

[F%]

4, Cholesterol

Options :

68634087249. 1
68634087250. 2
68634087251. 3
68634087252. 4

Question Number : 13 Question Id : 68634022082 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Milk produced during the initial few days of 'lactation’ 1s called :
1. Antrum
2. Colostrum
3. Fulerum

4, Cholesterol

Options :

68634087249. 1
68634087250. 2
68634087251. 3
68634087252. 4

Question Number : 14 Question Id : 68634022083 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The caves and rock-cut temples at Ellora belong to which of the following religion(s)?

A, Confucianism
B. Jainism

C. Buddhism

D. Hindu

Choose the correct answer from the options given below:

1. A. B and D only

[

.B. Cand D only

L]

. Cand D only

4. D only

Options :

68634087253. 1
68634087254. 2
68634087255. 3
68634087256. 4

Question Number : 14 Question Id : 68634022083 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The caves and rock-cut temples at Ellora belong to which of the following religion(s)?

A, Confucianism
B. Jainism

C. Buddhism

D. Hindu

Choose the correct answer from the options given below:

1. A. B and D only

()

.B, C and D only

(5]

. Cand D only

4. D only

Options :

68634087253. 1
68634087254.2
68634087255. 3
68634087256. 4

Question Number : 15 Question Id : 68634022084 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following constitute the electoral college for electing the President of India?

A Elected members of Lok Sabha

B. Elected members of the Legislative Assembly of each state
C. Elected members of the Legislative Couneil

D. Elected members of Rajya Sabha

Choose the correct answer from the options given below:

1. A. B and D only

()

. A, CandD only

(5]

.B. Cand D only

4. A and B only

Options :

68634087257. 1
68634087258. 2
68634087259. 3
68634087260. 4

Question Number : 15 Question Id : 68634022084 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following constitute the electoral college for electing the President of India?

A Elected members of Lok Sabha

B. Elected members of the Legislative Assembly of each state
C. Elected members of the Legislative Couneil

D. Elected members of Rajya Sabha

Choose the correct answer from the options given below:

1. A. B and D only

()

. A, CandD only

(5]

.B. Cand D only

4. A and B only

Options :

68634087257. 1
68634087258. 2
68634087259. 3
68634087260. 4

Question Number : 16 Question Id : 68634022085 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a row of students. the position of Vikas from the left side of the row is 18t and the position of Vikas from

Sth

the right side of the row is 38", Find the total number of students in the row?

1.55
2.56
3.57

4, 58

Options :

68634087261. 1
68634087262. 2
68634087263. 3
68634087264. 4

Question Number : 16 Question Id : 68634022085 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In a row of students. the position of Vikas from the left side of the row is 18 and the position of Vikas from

Sth

the right side of the row is 38", Find the total number of students in the row?

1.55
2.56
3.57

4, 58

Options :

68634087261. 1
68634087262. 2
68634087263. 3
68634087264. 4

Question Number : 17 Question Id : 68634022086 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If for each number in the given options, all their digits are arranged 1n descending order, which among the
tollowing corresponds to the smallest number?

1. 865
2. 468

. 593

L]

4. 786

Options :

68634087265. 1
68634087266. 2
68634087267. 3
68634087268. 4

Question Number : 17 Question Id : 68634022086 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If for each number in the given options, all their digits are arranged in descending order, which among the
following corresponds to the smallest number?

1. 865
2. 468

. 593

L]

4. 786

Options :
68634087265. 1



68634087266. 2
68634087267. 3
68634087268. 4

Question Number : 18 Question Id : 68634022087 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement : No country 1s absolutely self-dependent these days.
Conclusion : L. It 1s impossible to grow and produce all that a country needs.

II. The people of the country i general have become lazy.

1. Only II conclusion follows.

[

. Both I and IT conclusion follows.

. Either I or II follows.

Lad

4. Only I conclusion follows.

Options :

68634087269. 1
68634087270. 2
68634087271. 3
68634087272. 4

Question Number : 18 Question Id : 68634022087 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement : No country 1s absolutely self-dependent these days.
Conclusion : L. It 1s impossible to grow and produce all that a country needs.

II. The people of the country i general have become lazy.

1. Only II conclusion follows.

[

. Both I and IT conclusion follows.

. Either I or II follows.

Lad

4. Only I conclusion follows.

Options :

68634087269. 1
68634087270. 2
68634087271. 3
68634087272. 4

Question Number : 19 Question Id : 68634022088 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Look at the series : 1224, 612, 204, 102, 34........ Which one of the following numbers should come next in the
series?

1. 18

()

.17

.16

(5]

4.1

L

Options :

68634087273. 1
68634087274. 2
68634087275. 3
68634087276. 4

Question Number : 19 Question Id : 68634022088 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Look at the series : 1224, 612, 204, 102, 34........ Which one of the following numbers should come next in the
series?

()
—
-1

L]
—
L=

4. 15

Options :

68634087273. 1
68634087274. 2
68634087275. 3
68634087276. 4

Question Number : 20 Question Id : 68634022089 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Six friends Arun, Babita, Chandra. Dipika. Ekta and Faria are sitting 1n a row facing towards North. Chandra
1s sitting between Arun and Ekta. Dipika 1s not at the end. Babita 1s sitting immediate right to Ekta. Faria 13 not
at the right end. Who is at the immediate right of Dipila?

1. Arun

[

. Babita
3. Chandra

4. Elta

Options :



68634087277. 1
68634087278. 2
68634087279. 3
68634087280. 4

Question Number : 20 Question Id : 68634022089 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Six friends Arun, Babita. Chandra, Dipika. Ekta and Faria are sitting in a row facing towards North. Chandra
1s sitting between Arun and Ekta. Dipika 1s not at the end. Babita 1s sitting immediate right to Ekta. Faria 1s not
at the right end. Who 1s at the immediate right of Dipila?

1. Arun

| ]

. Babita
3. Chandra

4 Elta

Options :

68634087277. 1
68634087278. 2
68634087279. 3
68634087280. 4

Question Number : 21 Question Id : 68634022090 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the equation 3x* — 10x + 2p = 0 has equal roots then the value of p is -

75
i
) 35

(4]

3 22

3
4 23

6

Options :

68634087281. 1
68634087282.2
68634087283. 3
68634087284. 4

Question Number : 21 Question Id : 68634022090 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If the equation 3x* — 10x + 2p = 0 has equal roots then the value of p is -

75
i
) 35

(4]

3 22

3
4 23

6

Options :

68634087281. 1
68634087282. 2
68634087283. 3
68634087284. 4

Question Number : 22 Question Id : 68634022091 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a certain sum invested on compound interest becomes 3 tumes in 4 vears, then the no. of years m which this
sum will become 27 tumes at the same rate of interest 1s -

1. 16 years

()

. 18 years

(5]
—t
Ly
e
4]
jh]
=
o

4. 12 years

Options :

68634087285. 1
68634087286. 2
68634087287. 3
68634087288. 4

Question Number : 22 Question Id : 68634022091 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If a certain sum mvested on compound interest becomes 3 times in 4 years, then the no. of years i which this
sum will become 27 times at the same rate of interest is -

1. 16 years

()

. 18 years

(5]
—t
Ly
e
4]
jh]
=
o

4. 12 years

Options :

68634087285. 1
68634087286. 2
68634087287. 3
68634087288. 4

Question Number : 23 Question Id : 68634022092 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two fair dice are thrown. The probability that the number of tumes the first dice exceeds 3 and that the second
exceeds 4 will be :

i 2
6

()
|t

(&

|'\.H c_\l_.

(=]

Options :

68634087289. 1
68634087290. 2
68634087291. 3
68634087292. 4

Question Number : 23 Question Id : 68634022092 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Two fair dice are thrown. The probability that the number of tunes the first dice exceeds 3 and that the second
exceeds 4 will be :

i 2
6

()
|

| L

(=]

Options :

68634087289. 1
68634087290. 2
68634087291. 3
68634087292. 4

Question Number : 24 Question Id : 68634022093 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average of 11 numbers 1s 52, The average of the first 6 numbers 13 55 and the average of last 6 numbers 1s
49, The sixth number 18 :

1.51

[ )

.49

D2

LFS]

4.5

L]

Options :

68634087293. 1
68634087294. 2
68634087295. 3
68634087296. 4

Question Number : 24 Question Id : 68634022093 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The average of 11 numbers 1s 52. The average of the first 6 numbers 13 55 and the average of last 6 numbers 1s
49, The sixth number 1s :

1.51

()

.49
3.52

4. 55

Options :

68634087293. 1
68634087294. 2
68634087295. 3
68634087296. 4

Question Number : 25 Question Id : 68634022094 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two trains each of length 250 m start at the same time on two parallel tracks from point A and point B and
approached each other with speed of 36 km/hr and 44 km/hr respectively. When they crossed each other. it was
found that one train has moved 40 km more than the other. The distance between A and B 1s :

1. 399.0 lun

()

4000 km
3.399.5kun

4.400.5 lun

Options :

68634087297. 1
68634087298. 2
68634087299. 3
68634087300. 4

Question Number : 25 Question Id : 68634022094 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two trains each of length 250 m start at the same time on two parallel tracks from point A and point B and
approached each other with speed of 36 km/hr and 44 knv/'hr respectively, When they crossed each other. it was
found that one train has moved 40 km more than the other. The distance between A and B 1s :

1.399.0 lan

[

L4000 lamn

3.399.5kun

4.400.5 lun



Options :

68634087297. 1
68634087298. 2
68634087299. 3
68634087300. 4

Part B: Home science

Section Id : 686340438
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340721
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634022095 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: According to ICMR. (2020), estimated average requirement of calcium for lactating mother is
800 mg per day.

Statement IT: According to ICMR (2020), estimated average requirement of vitamin D for an adult woman
performing sedentary activity 1s 400 IU per day.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement IT are true

| )

. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT is false

4. Statement I is false but Statement IT is true

Options :

68634087301. 1
68634087302. 2
68634087303. 3
68634087304. 4

Question Number : 26 Question Id : 68634022095 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634087301. 1
68634087302. 2
68634087303. 3
68634087304. 4

Question Number : 27 Question Id : 68634022096 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and other is labelled as Reason R

Assertion A: The rate of blood flow through the kidneys increases with age and so does the rate of
glomerular filtration. which at the age of 80 years 1s nearly double as compared to of that at the age of 25
years.

Reason R: With increasing age. decreased amount of blood passes through the kidneys' filtration system,
resulting in adversely affecting the elimination of waste products and reabsorption of nutrients,

In the light of the above statements, Choose the correct answer from the options given below
1. Both A and R are true and R 1s the correct explanation of A
2. Both A and R are true and R is NOT the correct explanation of A
3. A is true but R is false
4. A 1s false but R is true
Options :
68634087305. 1

68634087306. 2
68634087307. 3



68634087308. 4

Question Number : 27 Question Id : 68634022096 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i1 31 YA [GU ITY §. U SHIUDHUA (Assertion A) © Al GHRT SHDI HRUJ (Reason R):
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Options :

68634087305. 1
68634087306. 2
68634087307. 3
68634087308. 4

Question Number : 28 Question Id : 68634022097 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following type of carbohydrate is not hydrolysed by pancreatic amylase?

1. Starch
2. Glycogen
3. Cellulose
4. Dextrin

Options :

68634087309. 1

68634087310. 2

68634087311. 3
68634087312. 4

Question Number : 28 Question Id : 68634022097 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634087309. 1
68634087310. 2
68634087311. 3
68634087312. 4
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Question Number : 29 Question Id : 68634022098 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following pigment is present in tomatoes?

1. Anthoxanthins

[

. Lycopene

LIPS ]

. Chlorophyll

e

. Cryptoxanthin
Options :

68634087313. 1
68634087314. 2

68634087315. 3
68634087316. 4

Question Number : 29 Question Id : 68634022098 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ehrer ¥ (Hafalad & 3 oF W vss (@uie) 9 S g -
 GARIfe

—

| )
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Options :



68634087313. 1
68634087314. 2
68634087315. 3
68634087316. 4

Question Number : 30 Question Id : 68634022099 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A combined method of roasting and stewing in a pan with a tight fitting lid is known as

1. Broiling

(B

. Poaching
3. Braising
4, Steaming

Options :

68634087317. 1
68634087318. 2
68634087319. 3
68634087320. 4

Question Number : 30 Question Id : 68634022099 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
cT5e ga®- aldl ®ele! (U) § YA+ 3R 3a1a- &1 U Sgad [afd & Y H AT 8 -
1. A (SEfe)
T
A & (s
- HIY 34T (L)

Options :

68634087317. 1
68634087318. 2
68634087319. 3
68634087320. 4
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Question Number : 31 Question Id : 68634022100 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which method of irradiation leads to destruction of nearly all microorganisms through very high dose of
radiation (25 - 45 kGy)?

1. Radicidation
2. Radappertization
3. Radurization

4. Concentration

Options :

68634087321. 1
68634087322. 2
68634087323. 3
68634087324. 4

Question Number : 31 Question Id : 68634022100 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fepRur 1 T faf I faferzur B agarmd OET (25-45 KGy) & WIRT & @y 9+t gedsiid Ay g1 old g7
1. ¥fefEsm
2. YeueigoH
3. YSYIOIRA
4. P

Options :

68634087321. 1
68634087322. 2
68634087323. 3
68634087324. 4

Question Number : 32 Question Id : 68634022101 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Microcytic hypochromic anaemic is caused due to the deficiency of which nutrient?
1. Folic acid
2. Pyridoxine
3. Cynaocobalamin
4. Iron

Options :



68634087325. 1
68634087326. 2
68634087327. 3
68634087328. 4

Question Number : 32 Question Id : 68634022101 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HIgehIHgice grguich Ihe it Fa o 4 fog yive da & $HI 4 5idT 6 -
1. TIfeied 317
R IUIREI I CaE]

| )

R EEICAGIGIE

A Ta

Options :

68634087325. 1
68634087326. 2
68634087327. 3
68634087328. 4

[#5]
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Question Number : 33 Question Id : 68634022102 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following statement about Van der Waals interactions is false?

1. They can arise due to instantaneous dipole-induced dipole interactions

[

. They consist of both attractive forces and repulsive forces
3. Individual Van der Waals interactions are weak
4. Because they are so weak., they do not contribute much to protein stability

Options :

68634087329. 1
68634087330. 2
68634087331. 3
68634087332. 4

Question Number : 33 Question Id : 68634022102 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634087329. 1
68634087330. 2
68634087331. 3
68634087332. 4
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Question Number : 34 Question Id : 68634022103 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What does MAP stands for?

1. Modified Atmospheric Product

[ ]

. Manipulated Atmosphere Packaging

LF¥]

. Modified Atmosphere Packaging

4. Modified Activated Packaging
Options :
68634087333. 1
68634087334. 2

68634087335. 3
68634087336. 4

Question Number : 34 Question Id : 68634022103 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Uy, U Ul &1 QR0 19 1 57
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Options :
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68634087333. 1
68634087334. 2
68634087335. 3
68634087336. 4

Question Number : 35 Question Id : 68634022104 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The molecular mass of anunonia is

1. 18 amu

[ )

.17 amu
3.19 amu

4, 20 amu

Options :

68634087337. 1
68634087338. 2
68634087339. 3
68634087340. 4

Question Number : 35 Question Id : 68634022104 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T &1 3nfide saaAF §

1.18 TG
17T
3.19 U,_-ml
4.20THY
Options :
68634087337. 1
68634087338. 2

68634087339. 3
68634087340. 4

| )

Question Number : 36 Question Id : 68634022105 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are long term complications of diabetes mellitus 7
A. Nephropathy
B. Ulcerative colitis
C. Cerebrovascular diseases

D. Retinopathy
E. Neuropathy

Choose the correct answer from the options given below
1.A B.D.E only
2.A.B,C,Donly
3.A.C.D.E only

4.B.C.D.E only

Options :

68634087341. 1
68634087342. 2
68634087343. 3
68634087344. 4

Question Number : 36 Question Id : 68634022105 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. Hadd A.B.D.E
2. PAUA.B.C.D
3.PddA.C.D.E
4. Hau B, C.D.E

Options :

68634087341. 1
68634087342. 2
68634087343. 3
68634087344. 4



Question Number : 37 Question Id : 68634022106 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the principles of HACCP given by Codex Alimertarius Commission in appropriate sequence:

A. Create protocols for critical control point deviations

B. Verity effectiveness of the HACCP system

C. Conduct hazard analysis and identify critical control points

D. Establish critical control point criteria and develop critical control point monitoring procedures
E. Ensure correct record keeping and documentation

Choose the correct answer from the options given below:
1.LE B INA €
2.C.D.B.E.A
3.A.E.D.B.C

4. C.D.AE.B

Options :

68634087345. 1
68634087346. 2
68634087347. 3
68634087348. 4

Question Number : 37 Question Id : 68634022106 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3.A.E,1). B, C

4, C.D.AE.B
Options :

68634087345. 1
68634087346. 2



68634087347.3
68634087348. 4

Question Number : 38 Question Id : 68634022107 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the steps involved in meal planning in correct sequence:

A. Determine the estimated average requirements/recommended dietary allowances using ICMR tables
B. Record personal data

C. Distribute the food exchanges in a balanced way between different meals

D. Estimating the amount of different food exchanges keeping in mind food preferences of the individual
E. Select specific foods and plan the menu using the food exchanges provided in each meal

Choose the correct answer from the options given below:
1.B.AD,C,E
2.8 B B.E
3.E,A.C,B,D

4.E.D.A.C.B

Options :

68634087349. 1
68634087350. 2
68634087351. 3
68634087352. 4

Question Number : 38 Question Id : 68634022107 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ol FRU H i =9l &1 3fd o1 § oalyd &9

A TS ITHSR A1 &1 SUAR Hd §U SFHIT 3d ATagHarsl / SRR 3ER 4l &
freRor T

B. AR g Hehferd Bl
C. HISH & SeH-UgH @ fafte HIs-i & &= ddfed adie 9 faaid s
D. Tfaa 1 @Te aigdnsl &1 e § & gU faflst @] uardl & Siam-UaH| &1 3E1 &1 SiHH

T
E. a1y @rey uanel &1 90H &A1 iR Ude HieH 8 ued arg fafiearsi &1 vai &R & g9 dar
AT

- fau Y fawed! & 9 Hel SR o 90 S -

1.BLAD,C E

2.ADCBE
3.B.A.€.8B,D
4 E.D.ACB

Options :

68634087349. 1
68634087350. 2
68634087351. 3
68634087352. 4

Question Number : 39 Question Id : 68634022108 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII J
Food products |[Common adulterant
A |Cinnamon 1. |Foreign resin
B. Bengal gram dhal] II. |Chicory
C. |Asafoerida II1. |Cassia bark
D_ |Coffee powder |IV [Khesari dhal

Choose the correct answer from the options given below:
1. A-II. B-IV. C-III. D-I
2. A-IIIL B-IV, C-I, D-II
3. A-L. B-II. C-III. D-IV
4. A-I1, B-IV, C-I11, D-I
Options :

68634087353. 1
68634087354. 2



68634087355.3
68634087356. 4

Question Number : 39 Question Id : 68634022108 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-ILL B-IV. C-III. D-1I
2. AL, B-IV. C-I. D-II
3. A-L. B-11. C-II1. D-IV
4, A-I1. B-IV. C-III. D-I

Options :

68634087353. 1

68634087354. 2

68634087355. 3
68634087356. 4

Question Number : 40 Question Id : 68634022109 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In terms of family purchases. which stage of family life cycle involves maximum requirement and usage of
tinances?

1. Beginning stage
2. Expanding stage
3. Contracting stage
4. Ending stage
Options :
68634087357. 1
68634087358. 2

68634087359. 3
68634087360. 4



Question Number : 40 Question Id : 68634022109 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WW%WﬁWWW%WWﬁﬁﬁWW@?W
L6

1. URMAS ER
ORaR & fGEaR P1ER
gRaR & Hiffd e S1ER
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Options :
68634087357. 1
68634087358. 2

68634087359. 3
68634087360. 4

| )

L

Question Number : 41 Question Id : 68634022110 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Identify the odd one out from the following. with regards to 5C's of event management:

1. Costing

[

. Canvassing
3. Coping
4. Carrying out

Options :

68634087361. 1
68634087362. 2
68634087363. 3
68634087364. 4

Question Number : 41 Question Id : 68634022110 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafafad o 9 39 fawed &1 997 % ol gde THute & Ui ¢ o1 e 8l & -
1. PIRET

B

I

4. BT 313

Options :

68634087361. 1
68634087362. 2
68634087363. 3
68634087364. 4

[

L]

Question Number : 42 Question Id : 68634022111 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Identify the secondary colours from the following options:

1. Orange

[ )

.Red
3. Yellow
4. Blue
Options :
68634087365. 1
68634087366. 2

68634087367. 3
68634087368. 4

Question Number : 42 Question Id : 68634022111 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fafeiad faseal o 9 fedige Fel 97 -
1. AR
2. |
3. g
4. At

Options :
68634087365. 1



68634087366. 2
68634087367. 3
68634087368. 4

Question Number : 43 Question Id : 68634022112 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which among the following is a tool for long term investments?

1. Fixed deposit
2. Saving bank account
3. Money market funds
4. Post office saving scheme

Options :

68634087369. 1

68634087370. 2

68634087371. 3
68634087372. 4

Question Number : 43 Question Id : 68634022112 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafafad d Yo arfded@ ddarfas R s A g
1. TTafe oAr

§9d 8% Tl

| )

[#%]

el TR Y
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Options :

68634087369. 1
68634087370. 2
68634087371. 3
68634087372. 4

Question Number : 44 Question Id : 68634022113 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct tool of time management from the following options:

1. Posture

[ ]

. Fatigue

L]

. Workload
4. Operation chart

Options :

68634087373. 1
68634087374. 2
68634087375. 3
68634087376. 4

Question Number : 44 Question Id : 68634022113 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafefad 5 ¥ 99y yew- & Fel Qe ol 9
L. Hal

2. UPHTH
3. P |
4. G 9T

Options :

68634087373. 1
68634087374. 2
68634087375. 3
68634087376. 4

Question Number : 45 Question Id : 68634022114 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following 18 NOT a characteristics of resources?
1. Unlimitedness
2. Utility
3. Accessibility
4. Inter-relatedness
Options :

68634087377. 1
68634087378. 2



68634087379. 3
68634087380. 4

Question Number : 45 Question Id : 68634022114 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrafafad 5 9 o 1 fdow GauH @ fagva 18l 6 -
1. rifHaa
STl

3. JUd<(dl

| ]

4, TNER Gdg

Options :

68634087377. 1
68634087378. 2
68634087379. 3
68634087380. 4

Question Number : 46 Question Id : 68634022115 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Identify the INCORRECT option regarding care and handling of electric kettle in use.

1. Check whether plug is inserted firmly

| B

. Check flex regularly

LIPS ]

. Wipe with a wet cloth after every use
4. Store away from dirt and dust

Options :

68634087381. 1
68634087382. 2
68634087383. 3
68634087384. 4

Question Number : 46 Question Id : 68634022115 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634087381. 1
68634087382. 2
68634087383. 3
68634087384. 4

Question Number : 47 Question Id : 68634022116 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What does CPA stands for, in relation to consumerism?

1. Consumer Proposition Act

[

. Consumer Preservation Act
3. Consumer Protection Act
4. Consumer Productivity Act

Options :

68634087385. 1

68634087386. 2

68634087387. 3
68634087388. 4

Question Number : 47 Question Id : 68634022116 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ui & Gay 1 Il dlu &1 31 ared 82
UM TR WA e
 FOHIET HicRa ifufas
 FUHIGAT TR&f0T Sffan
4. IYHIFI IATEHdl HIHTH

Options :

—

| ]

[#5]



68634087385. 1
68634087386. 2
68634087387. 3
68634087388. 4

Question Number : 48 Question Id : 68634022117 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Housing area Purpose
A |Recreation area I. |Bed room
B. [Rest area II. [Bath room
C. |Storage of goods area | I11. [Living room
D. [Hygiene area IV |Garage

Choose the correct answer from the options given below:

1. A-III, B-1, C-II. D-IV

[ ]

AL B-1L C-IV, D-11

5]

CA-IL B-IIL. C-I1L, D-IV
4. A-1. B-11, C-IIL. D-IV

Options :

68634087389. 1
68634087390. 2
68634087391. 3
68634087392. 4

Question Number : 48 Question Id : 68634022117 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

B | 3
(SHTETE &)
ARG &F | I R &
ERGEE] II. [FHFFR
VSR &F | 111 [do® B8

EELEel B S
fafafad faeedl & O 98l IR &1 994 I ;

1. A-IIT, B-1. C-1I. D-IV

ofo]w]-

-2

CA-ILL B-1L G-IV, D-I1
3. A-I B-II. C-II. D-IV
4. A-1. B-I1. C-11I. D-IV

Options :

68634087389. 1

68634087390. 2

68634087391. 3
68634087392. 4

Question Number : 49 Question Id : 68634022118 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and other is labelled as Reason R

Assertion A: Maslow's hierarchy of needs theory 1is not built upon the uniqueness of the needs to which he
refers to but upon the idea that these needs are arranged in a natural hierarchy of urgency.

Reason R: The basic needs are located at the bottom of the hierarchy and until these are satisfied. they are the
most important.

In the light of the above statements. Choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2

. Both A and R are true and R 1s NOT the correct explanation of A
3. A is true but R 1s false

4. A iz false but R is true

Options :

68634087393. 1
68634087394. 2
68634087395. 3
68634087396. 4



Question Number : 49 Question Id : 68634022118 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- 31 YA U U B, U HMUHYUT (Assertion A) § 1 GHRI SHP] PRUI (Reason R)
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WR:%}W’L@ SR GeHeH & 9y a0 9aeH W T § ok Jade 78 I3 e 81 9, 98 J9y
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2. A MRREF T E SRR, AT TE TRAT el ©
3 AT R PR TR IS

4 ATEITEI s Al R TEl ©

Options :

68634087393. 1
68634087394. 2
68634087395. 3
68634087396. 4

Question Number : 50 Question Id : 68634022119 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Planning helps to achieve the goals or targets by efficiently and eftfectively using available time
and other resources.

Statement IT:Planning maximises the cost of performance as profitable course of action for best results at
least cost are selected.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement IT are true

[ )

. Both Statement I and Statement IT are false
3. Statement I is true but Statement I is false

4, Statement I is false but Statement I1 is true

Options :
68634087397. 1



68634087398. 2
68634087399. 3
68634087400. 4

Question Number : 50 Question Id : 68634022119 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬂiiEflaaiFTfaTITHI%i
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Options :

68634087397. 1
68634087398. 2
68634087399. 3
68634087400. 4

Question Number : 51 Question Id : 68634022120 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arsrange the steps of management process in appropriate sequence:

A. Planning

B. Implementing
C. Organising
D. Controlling
E. Evaluating

Choose the correct answer from the options given below:

1LABCDE

b2

LA BEDE
3.A.D.B.C.E
4. A D.C.B.E

Options :

68634087401. 1
68634087402. 2
68634087403. 3
68634087404. 4

Question Number : 51 Question Id : 68634022120 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ta Uithal & fafie =RUl 1 GHgield diie I haas 1

A TIGHAT
B. HHAN-ad ST
C. GIfdd BT
D. Al &
E. Jedid &l
i fau TTE fasedl § 9§ T8l 3R &1 999 DIl ;

1LABCDE

| ]

ACB.DLE
3.3JA.D.B.C.E
4. A D.C.BE

Options :

68634087401. 1
68634087402. 2
68634087403. 3
68634087404. 4



Question Number : 52 Question Id : 68634022121 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The antariya fastened at the centre-front of the waist with a sash during the Vedic period 1s referred as

1. Uttariya

2. Kayabandh

3. Pesas

4. Ushnisa
Options :
68634087405. 1
68634087406. 2

68634087407. 3
68634087408. 4

Question Number : 52 Question Id : 68634022121 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e HTa § HHR & HHE-3T U H Sicgs & 91y 9% O ard i &1 Hel ol & :
1. JoRg

| )

ECApICE!
Rera i)
4. Fwfier

Options :

68634087405. 1
68634087406. 2
68634087407. 3
68634087408. 4

L

Question Number : 53 Question Id : 68634022122 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following weave produces brocade. damask and brocatelle fabrics?

1. Dobby weave

[

. Leno weave

L]

. Jacquard weave
4. Pile weave

Options :

68634087409. 1
68634087410. 2
68634087411. 3
68634087412. 4

Question Number : 53 Question Id : 68634022122 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S S, qHW SR sidlcd HUs FElaRad ¥ 4 9 g919¢ 4 Ud gl gid o -

1. Stell §1ae
2. I §1ae
3. SRS g1ae
4. UT5d §ATGE

Options :

68634087409. 1
68634087410. 2
68634087411. 3
68634087412. 4

Question Number : 54 Question Id : 68634022123 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following dyes are water soluble and are commonly used for silk. wool. nylon and modified
acrylic but has no affinity for cotton?

1. Disperse dyes

[ ]

. Acid dyes
3. Basic dyes
4. Azoic dyes

Options :



68634087413. 1
68634087414. 2
68634087415. 3
68634087416. 4

Question Number : 54 Question Id : 68634022123 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ol O @ oF W9 (S5) Ta-MHf%d gid1 § 3R Imrga: Riew, FA1, A ik aRafdd
UlchTciep ob feTu WaivT T @Il §Tdl §, difch [ ehT gd  lg Sy 98l 6 -

1. fa&ify Ioie

. 3 T9ih

| )
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 Tolfa® 35

Options :

68634087413. 1
68634087414. 2
68634087415. 3
68634087416. 4

[#5]
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Question Number : 55 Question Id : 68634022124 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following yarns resemble caterpillars in which tufts of fibers are inserted uniformly in the yarn
twist. perpendicular to the yarn?

1. Boucle yarns

| B]

. Chenille yarns
3. Ratine yarns

4. Nub yarns

Options :

68634087417. 1
68634087418. 2
68634087419. 3
68634087420. 4

Question Number : 55 Question Id : 68634022124 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634087417. 1
68634087418. 2
68634087419. 3
68634087420. 4

Question Number : 56 Question Id : 68634022125 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fineness of the fabric given by the number of stitches/ needles per unit width of the machine is referred as

1. Count
2. Wale
3. Course

4. Gauge

Options :

68634087421. 1
68634087422. 2
68634087423. 3
68634087424. 4

Question Number : 56 Question Id : 68634022125 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. 719
Options :
68634087421 1
68634087422. 2

68634087423. 3
68634087424. 4

[
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Question Number : 57 Question Id : 68634022126 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following stitch 1s NOT used in chikankari embroidery?
1. Darning
2. Taipelu
3. Bukhia
4. Murri
Options :
68634087425. 1
68634087426. 2

68634087427. 3
68634087428. 4

Question Number : 57 Question Id : 68634022126 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafad & @ o= d e &1y ReeR! seik d 6l faromar e
1. SIT
EIESIE]
- qfe
1778

Options :
68634087425. 1

| )

[#5]



68634087426. 2
68634087427.3
68634087428. 4

Question Number : 58 Question Id : 68634022127 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ajrakh prints are popular in which state?
1. Gujarat
2. Punjab

3. Karnataka

4. Tamil Nadu

Options :

68634087429. 1
68634087430. 2
68634087431. 3
68634087432. 4

Question Number : 58 Question Id : 68634022127 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o e g d diatg e ?

1. ORI
2. Gulrd
3, HlchH

4. TS

Options :

68634087429. 1
68634087430. 2
68634087431. 3
68634087432 4

Question Number : 59 Question Id : 68634022128 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and other is labelled as Reason R
Assertion A: The stiffness of organdie fabric remains intact even after washing
Reason R: It is due to starch applied on the fabric
In the light of the above statements. Choose the correct answer from the options given below
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true and R 18 NOT the correct explanation of A
3. A istrue but R is false
4. A s false but R is true
Options :
68634087433. 1
68634087434. 2

68634087435. 3
68634087436. 4

Question Number : 59 Question Id : 68634022128 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i1 g1 YA [T Y §, U SHIUDHUA (Assertion A) § ol GIRT SHPI PRUI (Reason R)
SfEY A: TSI PUS| B HSHUA YTy & &g 1 a1 Bl o
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Options :

68634087433. 1
68634087434. 2
68634087435. 3
68634087436. 4

Question Number : 60 Question Id : 68634022129 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Mineral stains contain metallic compounds and therefore. requires treatment with mild acidic
reagents followed by alkaline solutions to neutralise.

Statement II: Old iron stains can be removed by applying dilute oxalic acid and neutralizing with dilute borax
solution.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

b2

. Both Statement I and Statement IT are false
3. Statement I is true but Statement I is false
4. Statement I is false but Statement II is true

Options :

68634087437. 1

68634087438. 2

68634087439. 3
68634087440. 4

Question Number : 60 Question Id : 68634022129 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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HYFL: @S F arl B YT aii® 8id & | 31c: 59 a1 ®1 GoM 1 gad &R Juic & 818 SR
SUERI $1 sawed eidl g

DY 1 : 76 P R Ysdl Dl oM H ofa HiET SiafRIe e &1 TR 3 & IURId 34 Idal aRaH
Y & 1Y SRR [Far s gaar |

IR FYA & JAdlD |, Aid feu 0 fdwedi 4 T gt IR &1 99 HIoI:
1. BYTI 3R 1SH I §

2. BYF1 R I EHl T g
3. PYT 1 I B, Te- PUF 11 ITT &
4. PYF A S, WA BUA I IA T
Options :
68634087437. 1

68634087438. 2
68634087439. 3



68634087440. 4

Question Number : 61 Question Id : 68634022130 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Regenerated fibers are man-made fibers produced using a natural source as a base and using a
chemical process for generating the filament.

Statement IT: Examples of regenerated fibers include nylon. spandex, lyera. acrylics

In the light of the above statements. choose the correet answer from the options given below

1. Both Statement I and Statement II are true

| B

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement II is true

Options :

68634087441. 1
68634087442. 2
68634087443. 3
68634087444. 4

Question Number : 61 Question Id : 68634022130 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gy fRRumuE:

BYA 1. GG & AHE-HHT I 8. 165 U Wiopldes Hid $1 YR SR U I91df-a Uishd1 &1
YU BRep 11 Il 6|

BY I1: A, TS, AISePT IR Ushiciad JASdIgd =1 & JaIgIul o |
SRIGd HUA & AAD H, A S0 U [dwed] H I Tl 3ok & 904 BHIoiu:

1. YT 3R 11 3F 9a E

2. FYT1 R I SH1 A §
3. PYT 1 I ©. Afch-T HUF 11 39 ©

4. PYTI I e, AfPT P I Ta B

Options :
68634087441. 1



68634087442. 2
68634087443.3
68634087444. 4

Question Number : 62 Question Id : 68634022131 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the steps of laundering is appropriate sequence:

A. Finishing the garments with stiffening/ brightening/ bleaching agents
B. Washing or dry-cleaning the garments

C. Drying the garments

D. Storing the garments

E. Ironing or pressing the garments

Choose the correct answer from the options given below:

1.B.C.E.A.D

[ B)

.C,A.B.D.E
3B ACED
4 A C.B.E.D

Options :

68634087445. 1
68634087446. 2
68634087447. 3
68634087448. 4

Question Number : 62 Question Id : 68634022131 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YTTs o1 Widhal H FiEerd A o0l & HHaS aiie 3 aaTd

A FUSI Bl Hod / IHD / il FRBI Y TN HAT
B. BUS! & YaTs T Sle-aail=1 AT

C. PG B FaTg

D. BUS| &I TGl

E. BUS| Bl Sl Bl

A feu 7Y fawedt 7 ¥ Tel 3R o1 90 DI -

1.B,C.E.A.D

2.C,A.B.D.E
3.B.A.C.E.D
4 A CBED

Options :

68634087445. 1
68634087446. 2
68634087447. 3
68634087448. 4

Question Number : 63 Question Id : 68634022132 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Tvpe of embroidery] Region of origin
A [Kasun I |West Bengal
B. [Kantha IT. Himachal Pradesh
C. |[Chamba Funal | III. [Kamataka
D. [Kashida IV. [Kashtnir

Choose the correct answer from the options given below:

1. A-IV. B-II. C-1. D-ITI
2. AL B-I1, C-IV. D-I
3. A-IL B-IIL, C-IV, D-I
4. A-IIL. B-1. C-II. D-IV

Options :

68634087449. 1

68634087450. 2

68634087451. 3
68634087452. 4



Question Number : 63 Question Id : 68634022132 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife

T 1 T 1
@FEEFTPR) | CEAFEA)
A [l L [aig s
B. [@iur 1I. |9 uew
C. [ w3 )| 1L [eie®
D. [@gfier IV. [P=HR

FfaiRad foseal § O 98! SR & 904 DI

1. A-IV, B-IL. C-I, D-III
2. A-III, B-II, C-IV, D-I
3. A-II, B-II1, C-IV, D-1
4. A-III, B-L, C-II, D-IV

Options :

68634087449. 1

68634087450. 2

68634087451. 3
68634087452. 4

Question Number : 64 Question Id : 68634022133 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The disease in which the lens nside the eye becomes clouded and obscures vision is

1. Presbyopia
2. Cataract
3. Tinnitus
4. Glaucoma

Options :

68634087453. 1

68634087454. 2

68634087455. 3
68634087456. 4

Question Number : 64 Question Id : 68634022133 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ag I o offEl & afer &1 o e 51 ofiaT § iR efP fe g ot § -
1. SReIgar
Hifqaridg
fefres
4. DT
Options :
68634087453. 1
68634087454. 2

68634087455.3
68634087456. 4

[ ]

L]

Question Number : 65 Question Id : 68634022134 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When do children first engage in associated play. where they have spontaneous though short lived interactions
with other children?

1. 6 to & months

2. 12 to 14 months

3. Arvound 18 months

4. Around 24 months
Options :
68634087457. 1
68634087458. 2

68634087459. 3
68634087460. 4

Question Number : 65 Question Id : 68634022134 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



%ﬂgﬁﬂﬁ&ﬂ gEcl 9% d YA 8id &, oi8l 4 30 g=1 & 91Y YIS I9g & 6w 81 Jel, afes darg
6T G

6T 8T
129 14H9gH
TTHIT 18 He

TIYT 24 Ol

—

[

L]

=S

Options :

68634087457. 1
68634087458. 2
68634087459. 3
68634087460. 4

Question Number : 66 Question Id : 68634022135 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Radha is pretending that one of her blocks 1z a car. Which of the following function is she exhibiting?
1. Abstraction
2. Pre operational
3. Over extension
4, Semiotic
Options :
68634087461. 1
68634087462. 2

68634087463. 3
68634087464. 4

Question Number : 66 Question Id : 68634022135 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
7T ST 9 30+ U &A1 1 U TS OF 81 ¢ dl 98 FEf@a T 4 s I s P ¢ -
ST
. qd I
- SffafaR
4, Gicbfdd

a—y

[ ]

L]

Options :



68634087461. 1
68634087462. 2
68634087463. 3
68634087464. 4

Question Number : 67 Question Id : 68634022136 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Six year old Mira asks her mother if she can stay up until 9:00 pm on Friday night to watch a special education
T.V program. Her mother says "Yours bed time is 8:00 pm.and rules are rules. Get ready for bed immediately

or you will have to be grounded to your room all day tomorrow’. What 1s Mira's mother parenting style?

1. Authoritarian

| )

. Authoritative
3. Punishing

4. Neglectful

Options :

68634087465. 1
68634087466. 2
68634087467. 3
68634087468. 4

Question Number : 67 Question Id : 68634022136 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

% ot RT 7ot AT ot I Sedt & o 90T 98 YwaR I F 9:00 91 9@ ST 9Fd & 9 99 UH
fa=y QerMore 3. ot FTPH ITA1 5| 3HD! Hi DI IR & "TBRI TI- BT FHY A & 8:00 91 g 3R
forom it e BT 81 ¥ 9 & oy R 81 o1sil ST @ie &d OX1 131 310 SER & &g g1 gl
1 3t 7T oft 1 ATeH- e B el B

1. ARG
SR
dsAm
Ul

Options :

68634087465. 1
68634087466. 2
68634087467. 3
68634087468. 4

| )

LFN]

=Y

Question Number : 68 Question Id : 68634022137 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Which of the following does NOT fall under scope of child development study?
1. Behaviour of the child

2. Pattern development

Lad

. Individual differences
4. Grandparents in home

Options :

68634087469. 1

68634087470. 2

68634087471. 3
68634087472. 4

Question Number : 68 Question Id : 68634022137 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafaa & ¥ o1 91 e ard e oieg= & SR & el s e
. §=] BT IR

U faor

e fafrerdm

W H gIEI-giel / AFI-AE! &1 gl

a—y

[ ]

L

=Y

Options :

68634087469. 1
68634087470. 2
68634087471. 3
68634087472. 4

Question Number : 69 Question Id : 68634022138 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following 1s NOT a functional finish?

1. Waterproof

| B

. Crease resistant
3. Printing
4. Antistatic

Options :



68634087473. 1
68634087474. 2
68634087475. 3
68634087476. 4

Question Number : 69 Question Id : 68634022138 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafed 2 9 oH 91 te sias uRsH Tgl 87
1. STeRiedt
Foage i
4, TRyt
Options :
68634087473. 1
68634087474. 2

68634087475. 3
68634087476. 4

| )

[#5]

Question Number : 70 Question Id : 68634022139 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: White children get higher scores on cognitive tests than do children in all other groups in United
states of America.

Statement IT: Heredity explains group differences in cognitive test scores
In the light of the above statements. choose the correet answer from the options given below

1. Both Statement I and Statement II are true

| B

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement II is true

Options :

68634087477. 1
68634087478. 2
68634087479. 3
68634087480. 4



Question Number : 70 Question Id : 68634022139 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S ECARICA TR

HY I T T SERIT WD TR0 § 4d o= o ¥ & g1 3 Saal 3@ ald g
B I1: SFFTESD URIe0n § o [afeart sraifie! & arend 3 afvld &1 Sl 9ol g |
SWRIGd BYH & HTciie |, A< f3U U fasedi T I 99 Sugad 3a3 &1 98- Hifolu:

1. B 1 AR IS el §

| )

YT 1 AR 11 ST T §
AT R, AP pY I TEd §
Y 1 TeId &, AlhT BYT I Tel ©

LFN]

=Y

Options :

68634087477. 1
68634087478. 2
68634087479. 3
68634087480. 4

Question Number : 71 Question Id : 68634022140 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which formula corresponds to the way how Terman calculated IQ scores?
(CA=chronological age, MA=mental age)
1. CA/MA = 100
2. MA/CA = 100%
3.CAMA=1
4. MA/CA = 100
Options :
68634087481. 1
68634087482. 2

68634087483. 3
68634087484. 4

Question Number : 71 Question Id : 68634022140 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



B T YA I WD § T W1l 3 orgd 67 7 1Q 3 &1 1o Bt i
(CA=DTD D Y . MA=THES 1)
1. CA/MA x 100
2. MA/CA % 100%
3. CAIMA x 1
4, MA/CA % 100
Options :
68634087481, 1
68634087482. 2

68634087483. 3
68634087484. 4

Question Number : 72 Question Id : 68634022141 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI

: ; LISTII
Common disorders in ) i
: Characteristics
children
A K linefelter's I Tall small testicles, below normal
"7 |syndrome " hntelligence, passive behaviour
B. [XYY complement I Normal stature but delayed motor and|

language development

I Tall. some cases of below normal

C. |Turner's syndrome : ;
- intelligence

B e soideoiic v Short, limited dex'elopn{en_t of
. secondary sex characteristics

Choose the correct answer from the options given below:

1. A-I. B-III. C-IV. D-I1
2. A-1. B-I. C-II. D-IV
3. A-IL B-1. C-IV. D-III
4. A-IL. B-IV. C-111. D-I

Options :

68634087485. 1

68634087486. 2

68634087487. 3
68634087488. 4

Question Number : 72 Question Id : 68634022141 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen
@ﬁﬁﬁ%mﬁm e

Wﬁ@n 1 [cis1 BieT Sy, E Y B dhs, Hishd TaeR]

B. [XYY ®IFiHE 1. [9H1=1 &g cifch faciiad Hiel 3R Yl [dard
C. e RigH 111 [cfa, $@ Hel 5 9= d & df

D. poxcx g TV [@1er. 3fgde O a1 i fder
frafeiad faceal & I 9el I @1 991 DI -

1. A-I. B-III. C-IV. D-I1
2. A-1. B-I. C-II. D-IV
3. A-IL B-1. C-IV. D-III
4. A-IL. B-IV. C-111. D-I

Options :

68634087485. 1

68634087486. 2

68634087487. 3
68634087488. 4

Question Number : 73 Question Id : 68634022142 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI ;

Period of cognitive development TN Arsrronn
A |Senszorimotor period I. |11 years and above
B. [Preoperational period II. |7-11 years
C. |Concrete operational period | IIL |2-7 vears
D. [Formal operational period | IV, |0-2 years

Choose the correct answer from the options given below:

1. A-I. B-III, C-IV, D-II

[ ]

. A-LB-II, C-II1. D-IV
3. A-IV, B-I1, C-II1, D-I
4. A-IV. B-1II. C-II. D-I

Options :

68634087489. 1

68634087490. 2
68634087491. 3



68634087492. 4

Question Number : 73 Question Id : 68634022142 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen

I = 10
mgﬁ?ﬂﬁ&ﬁﬁn (Mg T
. [HodEreR safd I |11 99 3R 399 T
Td giEreH Safe I [7-11 99
314 URETa 2@ty 1L -7 a9
SO g Har | 1v o2 a9

fafaRad faseal § O 98l 3TR &1 994 Sifoe

1. A-I. B-III. C-IV, D-II

IR EIE

[ ]

CA-L B, C-ITLL D-IV
3. A-TV. B-1. C-111. D-I
4. A-IV. B-111. C-I1. D-I

Options :

68634087489. 1

68634087490. 2

68634087491. 3
68634087492. 4

Question Number : 74 Question Id : 68634022143 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and other is labelled as Reason R

Assertion A: Fine motor skills in pre-schoolers are better than during infancy but gross motor skills are more
striking and are exhibited with high degree of confidence.

Reason R: A kindergartener is able to write letters and is absolutely skilled at it.

In the light of the above statements. Choose the correct answer from the options given below
1. Both A and R are true and R i1s the correct explanation of A
2. Both A and R are true and R i1s NOT the correct explanation of A
3. A is true but R is false

4. A 1s false but R is true

Options :
68634087493. 1



68634087494. 2
68634087495. 3
68634087496. 4

Question Number : 74 Question Id : 68634022143 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 31 YA U U B, TP HMHYUT (Assertion A) § Tl GHRI FHPI PRUT (Reason R):

3ffiEY A: Od Il S § G&H Alex SR SRR & GRM 980X oidl © i Gad Ale B
STET THTET BT € SR 9o WR & 31 fay 3 weikia giar gl

BRI R: TF [T R UH g H & 81dT & SR T a3 § Gl (Re 4 G4 Sial o |
SWRIG] BYF & 3ATdiD H, °d QU MU f[dwegl T I Te1 IR &1 99 HioIg:
1. AR REA GBI € AR R, A DI Je! IS &

2. A SR R I UL § 3R R. A P el e el &
3. ATUE APR 3T

4 ANTTEAPTIRIAT
Options :
68634087493. 1
68634087494. 2

68634087495. 3
68634087496. 4

Question Number : 75 Question Id : 68634022144 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and other is labelled as Reason R

Assertion A: Emotional Intelligence (EQ) contributes equally to the achievements of skills measured by
traditional intelligence test.

Reason R: It is possible to achieve one's intellectual potential without Emotional Intelligence (EQ).
In the light of the above statements. Choose the correct answer from the options given below

1. Both A and R are true and R 1s the correct explanation of A

2. Both A and R are true and R 1s NOT the correct explanation of A

3. A 1s true but R 1s false

4. A is true but R 1s false

Options :



68634087497. 1
68634087498. 2
68634087499. 3
68634087500. 4

Question Number : 75 Question Id : 68634022144 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 & YA AU U §, TP SHU@HUT (Assertion A) B O GIRT IHP] PIRUI (Reason R):

HNHYT A: UGS FIETI (5. 99) I&T UG § SRIER D1 ANGH <41 & fod TRuRe gfendr &g &
GIRT AT 1 B

BRI R: [H4] oiaa & fow 3991 SIS ® &fd] HIaTES glardl (5.89) & a1 U S 94T § |
IRIGd HUA & ATdiD H, A Qv 0 fasedi 4 9 98t IO &1 99 DIl

| )

4.

A SIRREH T8l & 3R R. AT ol AR &

A SRR S e € SRR, A O U care A8l ©
ATEIEAPTIR TR E

AT eI e AT RIS ©

Options :

68634087497. 1
68634087498. 2
68634087499. 3
68634087500. 4

Question Number : 76 Question Id : 68634022145 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Theories of Intelligence Characteristics
n o um Facility with numbers and logical
A [Linguistic L 5 ; i
= problem solving
B. |[Interpersonal II. [The ability to understand oneself
0. s 1. The ability to use language

effectively
Sensitivity to the behaviour, moods
and needs of others

D. [Logical IV.

Choose the correct answer from the options given below:

1. A-III, B-II. C-1. D-IV

[ ]

AL B-IV. C-11, D-1
3. A-III, B-11. C-IV, D-I
4. A-I1. B-II1., C-IV. D-I

Options :

68634087501. 1
68634087502. 2
68634087503. 3
68634087504. 4

Question Number : 76 Question Id : 68634022145 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 1 1 = 11 9 faH Sife
A1 g
EfEaa & frgia) (ﬁgﬂﬂm
A [yt 1 [53eT 3R difches T GHIYH &) JiaH]
B. [sdauigad | 1L [@g &l 90 & &l
C. |siqedafagsm |11 |4 &t OyTdl &7 9 BaR § A @1 &5l
. |65 & S0deR, HId 3R ATa=ashdidl &l
D. |l ad wﬁaﬂﬁ%ﬁm
frafaRad fde el & I I8l SR &1 904 S ;

1. A-IIT, B-II. C-1. D-IV

2

AL B-IV. C-I1. D-1
3. A-III. B-1I. C-IV. D-I
4. A-I1. B-III. C-IV, D-I

Options :
68634087501. 1



68634087502. 2
68634087503. 3
68634087504. 4

Question Number : 77 Question Id : 68634022146 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Extrovert children are efficient. organized and reliable.

Statement II: Being an extrovert does not predict a stable pattern of responding to situations.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement IT are true

[ ]

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement IT is true

Options :

68634087505. 1
68634087506. 2
68634087507. 3
68634087508. 4

Question Number : 77 Question Id : 68634022146 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIEAEIEEUR
HU I Sed! 7= 9. Sied SR fayaig gia g
T 11 Sl ol FRufoal R wfafeal &1 & U@ RRR e (Ue) & yiawamtt 98 axar g1
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1. PR 1 EH TT &

2 BYFI IR 11 EH1 A S
3. PYTIIA T, Al YT I 3T &

4 FYTIHEI e AfpTE I g 8

Options :
68634087505. 1
68634087506. 2



68634087507. 3
68634087508. 4

Question Number : 78 Question Id : 68634022147 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Identify the limitation of institutional training.

1. No exposure to real situation

[

. No access to library
3. No access to equipment
4. No interaction with the scientists

Options :

68634087509. 1
68634087510. 2
68634087511. 3
68634087512. 4

Question Number : 78 Question Id : 68634022147 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RN IR0 1 a1 ggar |

i fufa 3 i 9ud =
 GATHIad 1 Big gae Tl

3. I DI DIg iAo el

4. 3 ®T A 5t of v R @1 Yarg e
Options :
68634087509. 1
68634087510. 2

68634087511. 3
68634087512. 4

[y

| ]

Question Number : 79 Question Id : 68634022148 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 1s the basic philosophy of extension education?

—_

. Teach people what to think

[

. Teach people how to think

L]

. Teach people about sources

e

. Teach people how to write

Options :

68634087513. 1
68634087514. 2
68634087515. 3
68634087516. 4

Question Number : 79 Question Id : 68634022148 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faiea e s q@ e F $2
a1 ge faEny fo @ 9 82
T & R & 9 9a1 82
@ @l Hidi & aR & gaF1 @
R T & & o e & 8 0
G301, 1
68634087514. 2

68634087515. 3
68634087516. 4

oy

| )
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Question Number : 80 Question Id : 68634022149 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In context of job performance. the gap between what i1s and what ought to be. is known as

1. Training need

| )

. Tramnimg goal
3. Training objective
4. Training analysis

Options :
68634087517. 1



68634087518. 2
68634087519. 3
68634087520. 4

Question Number : 80 Question Id : 68634022149 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o1 yides & guf 1 o1 g 3R 1 1 9116 & did & SicRk &1 ST STl © -
1. Uf&01 ©1 srawaesd
 ifRregor &g

 TTIau 3E=g
4. UTRr&107 faeisur

Options :

68634087517. 1
68634087518. 2
68634087519. 3
68634087520. 4

[ ]

L]

Question Number : 81 Question Id : 68634022150 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

NeGP-A scheme aims at which of the following?

1. Promoting horticulture production

(B

. For using ICT by extension workers

5]

. Promoting rapid development of agriculture through ICT
4, Starting Kisan helpline

Options :

68634087521. 1
68634087522. 2
68634087523. 3
68634087524. 4

Question Number : 81 Question Id : 68634022150 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



. g, il O € giei Fafifad 0 9 fea mafsa @ -
1. SIS IS B Uiede &l
2. TowR Sl gRIgFA1 3R YIR da-id] & WA & [y
3. o1 3R WAR ap-1%] BT 394N Bd gU BN &7 1 ¢t (95T Pi Uieifed & 8
4. PO BT WIE 3IR™ & 5

Options :

68634087521. 1
68634087522. 2
68634087523. 3
68634087524. 4

Question Number : 82 Question Id : 68634022151 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What does AMRUT stands for?

1. Atal Mission for Reformation and Urban Transformation

[ ]

. Atal Mission for Rejuvenation and Urban Transformation
3. Atal Mission for Rejuvenation and Urban Transportation

4. Atal Mission for Recreation of and Urban Transformation

Options :

68634087525. 1
68634087526. 2
68634087527. 3
68634087528. 4

Question Number : 82 Question Id : 68634022151 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3 (TUH.3R. T, T1.) BT R TH 182
1. §UR 3R TRIg uikad & fole sied HeH
PP IR TRIguRad & o seq fiem
3. BB R TRIY URag & AT sed e
4. TR 3R TR URae & fog srea e

[

Options :



68634087525. 1
68634087526. 2
68634087527. 3
68634087528. 4

Question Number : 83 Question Id : 68634022152 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During discussion amongst adolescent girls about safe sex methods, role play can help in developing which of
the following skills?

1. Group discussion and decision making

| B]

. Concept understanding
3. Self development
4. Learning skills

Options :

68634087529. 1
68634087530. 2
68634087531. 3
68634087532. 4

Question Number : 83 Question Id : 68634022152 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feriR gafcd! &1 e 71 WDl & aR & e $3 & ek YHSEG Tidfaidl [9-o) & o1 9
frafafad 3 3 g oiwe of fas i o © Jeadr fid Iwdt a2

g == SR ol oA
3T fab
4. RTH HIIA
Options :
68634087529. 1
68634087530. 2

68634087531.3
68634087532. 4

—

| )
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Question Number : 84 Question Id : 68634022153 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 15 labelled as Assertion A and other is labelled as Reason R

Assertion A: The terms extension and transfer of technology are often used interchangeably but means the
same.

Reason R: Extension is an educational process while transfer of technology mcludes additional functions of
mnput supply and agricultural services.

In the light of the above statements. Choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

b2

. Both A and R are true and R 18 NOT the correct explanation of A
3. A is true but R 1s false

4. A is false but R is true

Options :

68634087533. 1
68634087534. 2
68634087535. 3
68634087536. 4

Question Number : 84 Question Id : 68634022153 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
-9 3 U 40 70 §, UF SAf@UT (Assertion A) © A1 GERT 3D PRI (Reason R):
i@y A: [OWR SR TP &1 sxiarul a0y Teg &, fovq s9@T 3 A B
BRU R: [GEIR U &l Uishd ¢ [ ao-1 & S&aiaRul 1 599 Tfd 3R BN Jand off ol €1
SIRIGd BYA & Sfaid H, A ST T fasmeal 7 ¥ Het ST &1 98- DIoI;

1. ARREATEI € AR R, A DI Je! ARST &

2. A SRR I UL § SR R. A P el e el &
3. ATTE AfPR 3T

4 AT APTIRTAR

Options :

68634087533. 1
68634087534. 2
68634087535. 3
68634087536. 4



Question Number : 85 Question Id : 68634022154 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the stages of adoption in correct sequence:

A, Awareness
B. Trial

C. Evaluation
D. Interest

E. Adoption

Choose the correct answer from the options given below:
LAB.EDC
2.ABCDE
3.C8B,A,D.E
4. C,B.D.A.E
Options :
68634087537. 1
68634087538. 2

68634087539. 3
68634087540. 4

Question Number : 85 Question Id : 68634022154 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mg o4 & =01 & ol PH § ouafeyd B
A STR=dhdl

B. WM

C. eI
D. 3
E. 711G a1

i fau 70 f[daredl § ¥ Uel 3R &1 904 DIl |

1A B E D
2ZAB.CDE
3.C.B,AD.E
4.C.B.D.A.E
Options :
68634087537. 1

68634087538. 2
68634087539. 3



68634087540. 4

Question Number : 86 Question Id : 68634022155 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Agricultural extension has promoted a method of communication known as the field
demonstration.

Statement IT: In presentation of demonstration. there are elements of discussion and action based modes.
In the light of the above statements. choose the correet answer from the options given below

1. Both Statement I and Statement II are true

| B

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement II is true

Options :

68634087541. 1
68634087542. 2
68634087543. 3
68634087544. 4

Question Number : 86 Question Id : 68634022155 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 3l By fGU U

HY 1. BN fORAR 7 TIR & U UPR 3! Ui fear § o & weelH ded 7

B I1: USRI B Uxfa 8 991 & dod SR fopar sienid adies gid g |
SWRIE HY & 3Tclie H, i fau Y fdeedl § 9 a8 Suged SR &1 90 SIfeT:

1. Y1 AR IS el §

2. BYF 1 AR 11 ST TTAd &
3. PYT 196l 6. AfpT PU 11 TTad ©
4, FYF 1 7T0d 8. AfhT FUT 11 el ©

Options :
68634087541. 1
68634087542. 2



68634087543.3
68634087544. 4

Question Number : 87 Question Id : 68634022156 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Zila Saksharata Samiti 1s responsible for distribution of teaching learning material to continuing
education centres.

Statement IT: The selection of teaching/ learning materials for continuing education centres 1s made at
National level.

In the light of the above statements. choose the correct answer from the options given below
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement I 1s true but Statement IT 1s false

4. Statement I is false but Statement IT is true
Options :
68634087545. 1
68634087546. 2

68634087547. 3
68634087548. 4

Question Number : 87 Question Id : 68634022156 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIEEA kI ATt ]

BT 1. ToTer WIaRaT Tt Fed Rian o= ol e sifees 9l & faawu & oy SwRerd! €idi g
T 11 T &1 1 &0 ST Irht 37 &1 Fofg Iy TR W R S s

SWRIGd BYH & HTciie |, A< f3U U fasedi T I 99 Sugad 3a3 &1 98- Hifolu:

1. U1 AR IS el §

2. HYTI AR I S Tad &
3. YT I Tel 8. AfpT HYF 1 Tad §
4. BYT 17T0d &, AipT PUT I Tl ©

Options :
68634087545. 1



68634087546. 2
68634087547. 3
68634087548. 4

Question Number : 88 Question Id : 68634022157 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following qualities are required to become an effective speaker?

A. Confidence

B. Relevance

C. Eye contact

D. Continuous leg movement while sitting

Choose the correct answer from the options given below:
1. B.C. D only
2. A B, Conly
3.C.D.Aonly

4. A B.D only

Options :

68634087549. 1
68634087550. 2
68634087551. 3
68634087552. 4

Question Number : 88 Question Id : 68634022157 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U5 YHId! gad 9+ o fore Fgfefad § 9 foasr g1 smaws © -

A, THGYTT
wieh
C. 99 Iuydh
D. 934 & gRIF adR U fgdr
i feu 0 f[daredl § U Oel 3R &1 90+ DIl ;
1. $ddB.C.D
2. PGAA.B.C
3.PaAC.D.A

4. PAAA.B.D

Options :



68634087549. 1
68634087550. 2
68634087551. 3
68634087552. 4

Question Number : 89 Question Id : 68634022158 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Scheme Years of launch
A Mid day meal I 1988
B. [NLM IT. |1995
C. [Kisan Saksharta Yojna| ITT_ [1968
D. |Sakshar Bharat IV |2017

Choose the correct answer from the options given below:

1. A-L. B-II. C-III, D-IV

[ ]

. A-IL B-1, C-III. D-IV
3. A-TV. B-1. C-II. D-III
4. A-IL. B-1, C-IV, D-III

Options :

68634087553. 1
68634087554. 2
68634087555. 3
68634087556. 4

Question Number : 89 Question Id : 68634022158 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

I II
(ﬁ?‘—m (= ad # 3w §5)
A [HE S dd 1. [1988
B. [ UgUH 1I. [1995
C. [T TI&RT Orei| 111 [1968
D. [F1&R URd v. [2017
fFrafead [aeedl § I 98l IR &1 90 Sl :

1. A-I. B-II. C-III. D-IV
2. A-IL B-1, C-IIL. D-IV
3. A-IV. B-1. C-II. D-III
4. A-I1. B-1. C-IV, D-III

Options :

68634087553. 1
68634087554. 2
68634087555. 3
68634087556. 4

Question Number : 90 Question Id : 68634022159 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the steps of research process in correct sequence:

A. Review of literature

B. Identification of the research problem
C. Developing objectives

D. Deciding research design

E. Data analysis and interpretation

Choose the correct answer from the options given below:
1.B.AD,CE
2.ABCDE
3JACCB.D.E

44,81 H

Options :

68634087557. 1
68634087558. 2
68634087559. 3
68634087560. 4



Question Number : 90 Question Id : 68634022159 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S{HYT Ufchdr & =Rl &I gl oH H odieyd &1 :

A Tifed & gHlen

B. XY HWI & YgdH
C. 3el & f[dsr™g

D. Ty UR& AT &1 Huig
E. SeT fawayur 37% aran

i fau 70 f[daredl § ¥ Uel 3R &1 904 DIl |

1.B.ADCE

[ ]

ABCDLE
3A.C.B. D E
4. A B.D.C.E

Options :

68634087557. 1
68634087558. 2
68634087559. 3
68634087560. 4

Question Number : 91 Question Id : 68634022160 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and other is labelled as Reason R

Assertion A: Functional literacy is to make learning relevant to living and working.

Reason R: Functional literacy provide skill improvement leading to employment.

In the light of the above statements. Choose the eorrect answer from the options given below

1. Both A and R are true and R is the correct explanation of A

| )

. Both A and R are true and R 1s NOT the correct explanation of A
3. A is true but R is false

4, A is false but R is true

Options :

68634087561. 1
68634087562. 2
68634087563. 3
68634087564. 4



Question Number : 91 Question Id : 68634022160 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
-9 &1 HYA AU U §, UF SHfU@HUT (Assertion A) T A1 G3R1 3HH] HRIT (Reason R):
HYFHYT A: FTUTES TR BT Ie8g HH FI 5 AR &H H- & o uie s gl
HRUIR: BYIHD &R DI [GHT YEH B &, Sl AR Wit H Fee &
SIRIGd HY & el H, i< ST 7 fadwedi & F 9et ITx &1 98- HIIT;
1. A 3R R I 961 § SRR, A P! Hel URAT &

2. A SRR I T E IR R. A P ST U el ©
3. ATEI S AT R IS TR §
4 ATSI TR e AP R TSI ©

Options :

68634087561. 1
68634087562. 2
68634087563. 3
68634087564. 4

Question Number : 92 Question Id : 68634022161 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following non formal education feature is incorrect?

1. Unorganized
2. Systematic
3. An educational activity
4. Highly institutionalised

Options :

68634087565. 1

68634087566. 2

68634087567. 3
68634087568. 4

Question Number : 92 Question Id : 68634022161 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



oy e ot Fofatad 4 9 o 9 faRwar maa § --

1. 3gTfed
2. gfgifsa
3. U% Aféas fafafe
4. TS GRINT

Options :

68634087565. 1

68634087566. 2

68634087567. 3
68634087568. 4

Question Number : 93 Question Id : 68634022162 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following 18 NOT a principle of adult learning?

1. Adults must be internally motivated to learn

| )

. Adult learn only when they feel they need to learn

%]

. Adults learn best informally
4. Book reading is essential for adult learning
Options :
68634087569. 1
68634087570. 2

68634087571. 3
68634087572. 4

Question Number : 93 Question Id : 68634022162 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Pl & 3 o9 a1 oo auw e &1 fRigia T8 e -
1. 9% Hig- &1 Wy Uied gl
ag% afl Hied € 919 S8 U ST 81T © 19 96 SigAT Aoy
T SFEIRG T Y Y 3T 4ad §

. gge fU1er & fou farard yen snawaa g

| )

L

=Y

Options :
68634087569. 1



68634087570. 2
68634087571. 3
68634087572. 4

Question Number : 94 Question Id : 68634022163 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A unit analysis that takes on different values 1s known as

1. Variable

2

. Sample

LFS]

. Population
4. Sampling frame

Options :

68634087573. 1
68634087574. 2
68634087575. 3
68634087576. 4

Question Number : 94 Question Id : 68634022163 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faeaer @t a8 SoTs forgas! feT-3feT AT 8ld1 8. 3Y F8d § -
1. =R

Syl

3. ST

AT T

Options :

68634087573. 1

68634087574. 2

68634087575.3
68634087576. 4

[

=

Question Number : 95 Question Id : 68634022164 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A statement or a tentative proposition of potential relationship between two or more variables is known
as

1. Sampling

2. Phenomenology

3. Ethnography

4. Hypothesis
Options :
68634087577. 1
68634087578. 2

68634087579. 3
68634087580. 4

Question Number : 95 Question Id : 68634022164 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

rzaiaigﬁ'tﬂwawﬁw@rélmﬁﬁ%aﬁ%aﬁa@nﬁaﬁﬂﬁw%ﬁﬁﬁmwﬁ
Sd 82

1. wfcaT
¥eAT fagE

Haud fagm
4. GN@ g

Options :

68634087577. 1
68634087578. 2
68634087579. 3
68634087580. 4

| ]
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Question Number : 96 Question Id : 68634022165 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Sarva Shiskha Abhiyan was launched in which year?

1. 2000

| B

. 2001

3. 2002

4. 2003



Options :

68634087581. 1
68634087582. 2
68634087583. 3
68634087584. 4

Question Number : 96 Question Id : 68634022165 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 TR Hfa &1 goad foa av gg di 2

1. 2000

| o

. 2001
3. 2002
4. 2003

Options :

68634087581. 1
68634087582. 2
68634087583. 3
68634087584. 4

Question Number : 97 Question Id : 68634022166 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Art and science of helping adults to learn 1s known as
1. Gerontology
2. Adult learning
3. Andragogy
4. Adulting

Options :

68634087585. 1
68634087586. 2
68634087587. 3
68634087588. 4

Question Number : 97 Question Id : 68634022166 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634087585. 1
68634087586. 2
68634087587. 3
68634087588. 4

Question Number : 98 Question Id : 68634022167 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Under scheme of 'Mass Media support to Agriculture Extension', farmers create participatory
videos.

Statement II: Broadcasting programmes cover a wide spectrum of topics in agriculture and allied ficlds.
In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

[

. Both Statement I and Statement II are false
3. Statement I is true but Statement I is false

4. Statement I is false but Statement IT is true

Options :

68634087589. 1
68634087590. 2
68634087591. 3
68634087592. 4

Question Number : 98 Question Id : 68634022167 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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FYA L P TR H THGR FeaIT T & Hid frare Fevrt fafsal toR #=d o
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Options :

68634087589. 1
68634087590. 2
68634087591. 3
68634087592. 4

Question Number : 99 Question Id : 68634022168 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I Name of aid| LIST II Type of aid
A [Flip Chart I. JAudio Aid
B. |Records II. [Visual aid
C. [Film ITI. [Non traditional aid
D. |Games IV, |Written aid

Choose the correct answer from the options given below:

1.LA-ILB-II C-TII. D- IV

| ]

CA-IV.B-ILLC-1.D-TI
JJA-NILB-IV.C-II.D-1
4 A-IV.B-1C-II.D-1III

Options :

68634087593. 1
68634087594 2
68634087595. 3
68634087596. 4



Question Number : 99 Question Id : 68634022168 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.
A-l, B-11, C-III. D-IV
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b2

A-TV, B-III. C-1. D-I1

AL B-IV. C-11. D-1

A-IV. B-1. C-II. D-III
Options :
68634087593. 1
68634087594. 2

68634087595. 3
68634087596. 4

Question Number : 100 Question Id : 68634022169 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 18 NOT a tool of data collection in survey research?

1. Interview

2. Questionnaire

3. Content analysis

4, Telephone

Options :



68634087597. 1
68634087598. 2
68634087599. 3
68634087600. 4

Question Number : 100 Question Id : 68634022169 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. XU

Options :

68634087597. 1
68634087598. 2
68634087599. 3
68634087600. 4



